

SOME MATRIX INEQUALITIES FOR WEIGHTED POWER MEAN

MARYAM KHOSRAVI

Communicated by Y. Seo

ABSTRACT. In this paper, we prove that, for any positive definite matrices A, B , and real numbers ν, μ, p with $-1 \leq p < 1$ and $0 < \nu \leq \mu < 1$, we have

$$\frac{\nu}{\mu}(A\nabla_{\mu}B - A\sharp_{p,\mu}B) \leq A\nabla_{\nu}B - A\sharp_{p,\nu}B \leq \frac{1-\nu}{1-\mu}(A\nabla_{\mu}B - A\sharp_{p,\mu}B),$$

where ∇_{ν} and $\sharp_{p,\nu}$ stand for weighted arithmetic and power mean, respectively. In the special cases when $p = 0, 1$, this inequality can be considered as a generalization of harmonic-arithmetic and geometric-arithmetic means inequalities and their reverses.

Applying this inequality, some inequalities for the Heinz mean and determinant inequalities related to weighted power means are obtained.

1. INTRODUCTION

Let $\mathbb{B}(H)$ be the algebra of bounded linear operators on a Hilbert space H , and let $\mathbb{B}(H)^+$ stand for the strictly positive operators. A binary operation $(A, B) \mapsto A\sigma B$, from $\mathbb{B}^+(H) \times \mathbb{B}^+(H)$ to $\mathbb{B}^+(H)$, is called a *connection* if the following conditions are satisfied:

- $A \leq C$ and $B \leq D$ imply $A\sigma B \leq C\sigma D$,
- $A_n \downarrow A$ and $B_n \downarrow B$ imply $A_n\sigma B_n \downarrow A\sigma B$ in the strong operator topology,
- $T^*(A\sigma B)T \leq (T^*AT)\sigma(T^*BT)$ for every operator T .

Copyright 2016 by the Tusi Mathematical Research Group.

Received Jun. 29, 2015; Accepted Oct. 18, 2015.

2010 *Mathematics Subject Classification*. Primary 15A45; Secondary 47A64, 26E60.

Keywords. weighted arithmetic mean, weighted power mean, positive definite matrices, matrix inequality.

Recently, Alzer, da Fonseca, and Kovačec in [1] compared the difference of weighted arithmetic and geometric means with respect to two different weights. They showed that, for positive definite matrices $A, B \in M_n(\mathbb{C})$,

$$\frac{v}{\tau}(A\nabla_{\tau}B - A\sharp_{\tau}B) \leq A\nabla_vB - A\sharp_vB \leq \frac{1-v}{1-\tau}(A\nabla_{\tau}B - A\sharp_{\tau}B), \quad (1.3)$$

where $0 < v \leq \tau < 1$, and they obtained generalizations of some results about the Young inequality and its reverse in [2], [4], and [5] as consequences.

One should note that

$$C^*(C^{*-1}BC^{-1})^{\nu}C = C^*(I\sharp_{\nu}C^{*-1}BC^{-1})C = C^*C\sharp_{\nu}B = A\sharp_{\nu}B.$$

Thus, we can consider the inequality (1.3) as a generalization of inequalities (1.1) and (1.2). In addition, some mathematicians investigated the difference of weighted arithmetic and harmonic means, and proved some similar results which can be found in [6], [7], and [9]. In this article, we present a version of (1.3) for the difference of weighted arithmetic and power means, namely,

$$\frac{\nu}{\mu}(A\nabla_{\mu}B - A\sharp_{p,\mu}B) \leq A\nabla_{\nu}B - A\sharp_{p,\nu}B \leq \frac{1-\nu}{1-\mu}(A\nabla_{\mu}B - A\sharp_{p,\mu}B)$$

for any positive definite matrices A, B , and real numbers ν, μ, p with $-1 \leq p < 1$ and $0 < \nu \leq \mu < 1$.

These results are proved in [1] and [7] for two special cases of the geometric mean and the harmonic mean. Also, similar inequalities for the Heinz mean and some trace inequalities are obtained.

2. NUMERICAL INEQUALITIES

To prove our main inequality, we need the following lemma.

Lemma 2.1. *Let t be a real number and let $y > -1$. Then*

$$(1+y)^t(ty-1) + 1 \geq 0$$

for $t \in \mathbb{R} \setminus [-1, 0]$. If $0 < t < 1$, then the inequality yields its converse.

Proof. Let t be a fixed number, and let $g(y) = (1+y)^t(ty-1)$. Then $g'(y) = t(1+y)^{t-1}(ty-1) + t(1+y)^t = t(t+1)y(1+y)^{t-1}$. If $t \in \mathbb{R} \setminus [-1, 0]$, then $t(t+1)(1+y)^{t-1} > 0$. It follows that g attains its minimum at $y = 0$; hence, $g(y) \geq -1$ for all $y > -1$. If $0 < t < 1$, then we have $t(t+1)(1+y)^{t-1} < 0$. Therefore, g attains its maximum at $y = 0$ so that $g(y) \leq -1$. \square

Note that in the numerical case, we can define weighted power mean $\sharp_{p,\nu}$ for each real number p .

Lemma 2.2. *Let $p \in \mathbb{R}$, let $p \neq 1$, and let $0 < \nu \leq \mu < 1$. Then for all positive real number $x > 0$, we have*

$$\frac{\nu}{\mu} \leq \frac{1\nabla_{\nu}x - 1\sharp_{p,\nu}x}{1\nabla_{\mu}x - 1\sharp_{p,\mu}x} \leq \frac{1-\nu}{1-\mu}. \quad (2.1)$$

Proof. First let $p \neq 0$. Put

$$F(\nu) = \frac{1\sharp_{p,\nu}x - 1\nabla_{\nu}x}{\nu} = \frac{(1 - \nu + \nu x^p)^{1/p} - 1 + \nu - \nu x}{\nu}.$$

Then

$$\begin{aligned} \frac{\partial}{\partial \nu} F &= \frac{1}{\nu} [1/p(-1 + x^p)(1 - \nu + \nu x^p)^{1/p-1} - (-1 + x)] \\ &\quad - \frac{1}{\nu^2} [(1 - \nu + \nu x^p)^{1/p} - (1 - \nu + \nu x)] \\ &= \frac{1}{\nu^2} [(1 - \nu + \nu x^p)^{1/p-1} \left[\left(\frac{\nu}{p}(x^p - 1) - 1 + \nu - \nu x^p \right) \right] + 1] \\ &= \frac{1}{\nu^2} [(1 + y)^{1/p-1} \left[\left(y \left(\frac{1}{p} - 1 \right) - 1 \right) \right] + 1], \end{aligned}$$

where $y = \nu x^p - \nu$. Using Lemma 2.1, if $p < 1$, then we get $\frac{\partial}{\partial \nu} F \geq 0$, and so F is increasing. Therefore, $F(\nu) \leq F(\mu)$. Since F is negative, the first inequality follows. Similarly, for $p > 1$, since $\frac{\partial}{\partial \nu} F \leq 0$ and F is a positive function, the inequality follows.

For the second inequality, we use the fact that $1\sharp_{p,\nu}x = x(1\sharp_{p,1-\nu}x^{-1})$. Now applying the first inequality for $1 - \nu$ and $1 - \mu$, the result follows.

To prove the result for $p = 0$, let $p \rightarrow 0$ and use the continuity of $\sharp_{p,\nu}$. □

If we consider $x = \frac{b}{a}$ in (2.1) and we multiply both the numerator and denominator of the fraction by b , then we get the following result.

Theorem 2.3. *Let $p \in \mathbb{R}$, let $p \neq 1$, and let $0 < \nu \leq \mu < 1$. Then for all positive real numbers a, b ,*

$$\frac{\nu}{\mu} \leq \frac{a\nabla_{\nu}b - a\sharp_{p,\nu}b}{a\nabla_{\mu}b - a\sharp_{p,\mu}b} \leq \frac{1 - \nu}{1 - \mu}.$$

We can state a version of this theorem for the Heinz mean.

Corollary 2.4. *Let $0 < \nu \leq \mu < 1$. Then for all positive real numbers a, b ,*

$$\frac{\nu}{\mu} \leq \frac{a\nabla b - H_{\nu}(a, b)}{a\nabla b - H_{\mu}(a, b)} \leq \frac{1 - \nu}{1 - \mu}.$$

Proof. Applying Theorem 2.3, for $\nu \leq \mu$, we have

$$\frac{\nu}{\mu}(a\nabla_{\mu}b - a\sharp_{\mu}b) \leq a\nabla_{\nu}b - a\sharp_{\nu}b \leq \frac{1 - \nu}{1 - \mu}(a\nabla_{\mu}b - a\sharp_{\mu}b).$$

In addition, due to $1 - \mu \leq 1 - \nu$, we have

$$\frac{1 - \mu}{1 - \nu} \leq \frac{a\nabla_{1-\mu}b - a\sharp_{1-\mu}b}{a\nabla_{1-\nu}b - a\sharp_{1-\nu}b} \leq \frac{\mu}{\nu},$$

and therefore

$$\frac{\nu}{\mu}(a\nabla_{1-\mu}b - a\sharp_{1-\mu}b) \leq a\nabla_{1-\nu}b - a\sharp_{1-\nu}b \leq \frac{1 - \nu}{1 - \mu}(a\nabla_{1-\mu}b - a\sharp_{1-\mu}b).$$

Therefore,

$$\begin{aligned} & \frac{\nu}{\mu}((a\nabla_{\mu}b + a\nabla_{1-\mu}b) - (a\sharp_{\mu}b + a\sharp_{1-\mu}b)) \\ & \leq (a\nabla_{\nu}b + a\nabla_{1-\nu}b) - (a\sharp_{\nu}b + a\sharp_{1-\nu}b) \\ & \leq \frac{1-\nu}{1-\mu}((a\nabla_{\mu}b + a\nabla_{1-\mu}b) - (a\sharp_{\mu}b + a\sharp_{1-\mu}b)). \end{aligned}$$

Thus,

$$\frac{\nu}{\mu}(a\nabla b - H_{\mu}(a, b)) \leq a\nabla b - H_{\nu}(a, b) \leq \frac{1-\nu}{1-\mu}(a\nabla b - H_{\mu}(a, b)). \quad \square$$

Using Theorem 2.3 and Lemma 2.5, we can find lower and upper bounds for the difference of weighted arithmetic and power means.

Lemma 2.5. (see [1]) Let $0 < \nu < 1$, and let $f : [a, b] \rightarrow \mathbb{R}$ be twice differentiable with $-\infty < m \leq f''(x) \leq M < +\infty$ for all $x \in (a, b)$. Then

$$\begin{aligned} \frac{\nu(1-\nu)}{2}(b-a)^2m & \leq \nu f(a) + (1-\nu)f(b) - f(\nu a + (1-\nu)b) \\ & \leq \frac{\nu(1-\nu)}{2}(b-a)^2M. \end{aligned}$$

Theorem 2.6. Let $0 < \nu < 1$, and let $0 < a < b$. Then

$$\frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) a \left(\left(\frac{b}{a} \right)^p - 1 \right)^2 \leq a\nabla_{\nu}b - a\sharp_{p,\nu}b \quad (2.2)$$

$$\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) b \left(1 - \left(\frac{a}{b} \right)^p \right)^2 \quad (2.3)$$

for $0 \neq p < \frac{1}{2}$ or $p > 1$. If $\frac{1}{2} \leq p \leq 1$, then

$$\frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) b \left(1 - \left(\frac{a}{b} \right)^p \right)^2 \leq a\nabla_{\nu}b - a\sharp_{p,\nu}b \quad (2.4)$$

$$\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) a \left(\left(\frac{b}{a} \right)^p - 1 \right)^2. \quad (2.5)$$

In addition,

$$\frac{\nu(1-\nu)}{2} a \ln^2 \left(\frac{b}{a} \right) \leq a\nabla_{\nu}b - a\sharp_{\nu}b \leq \frac{\nu(1-\nu)}{2} b \ln^2 \left(\frac{a}{b} \right). \quad (2.6)$$

Proof. Let $f(t) = t^{1/p}$. Then $f''(t) = \frac{1}{p} \left(\frac{1}{p} - 1 \right) t^{\frac{1}{p}-2}$. Assume that $\frac{1}{2} \leq p \leq 1$. Applying Lemma 2.5 on $[a^p, b^p]$, we have

$$\begin{aligned} \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) b \left(1 - \left(\frac{a}{b} \right)^p \right)^2 & \leq b\nabla_{\nu}a - b\sharp_{p,\nu}a \\ & \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1 \right) a \left(\left(\frac{b}{a} \right)^p - 1 \right)^2. \end{aligned}$$

Replacing ν with $1 - \nu$ and employing the fact that $b\sharp_{\alpha,\nu}a = a\sharp_{\alpha,1-\nu}b$, we get the result. If $p \notin [\frac{1}{2}, 1]$ and $p > 0$, then, as in the previous part, apply Lemma 2.5 on $[a^p, b^p]$ and replace ν with $1 - \nu$. Also, for $p < 0$, use the interval $[b^p, a^p]$ to get the desired result. Finally, for $p = 0$, use the above inequalities where p tends to zero. \square

In a similar way, we can apply (2.6) for ν and $1 - \nu$ to find a bound for the Heinz mean.

Corollary 2.7. *For $0 < \nu < 1$ and positive numbers a, b , we have*

$$\frac{\nu(1 - \nu)}{2}a \ln^2\left(\frac{b}{a}\right) \leq a\nabla b - H_\nu(a, b) \leq \frac{\nu(1 - \nu)}{2}b \ln^2\left(\frac{a}{b}\right). \tag{2.7}$$

3. MATRIX INEQUALITIES

Based on the numerical inequalities in the preceding section and the spectral theorem, we obtain the matrix versions of these inequalities. Since $\sharp_{p,\nu}$ defines an operator means only if $-1 \leq p \leq 1$, in this section, we focus on the case $|p| \leq 1$.

Lemma 3.1. *Let $Q \in M_n(\mathbb{C})$ be positive definite, and let ν, μ , and p be real numbers with $-1 \leq p < 1$ and $0 < \nu \leq \mu < 1$. Then*

$$\frac{\nu}{\mu}(I\nabla_\mu Q - I\sharp_{p,\mu}Q) \leq I\nabla_\nu Q - I\sharp_{p,\nu}Q \leq \frac{1 - \nu}{1 - \mu}(I\nabla_\mu Q - I\sharp_{p,\mu}Q). \tag{3.1}$$

Proof. By the spectral theorem, the positive definite matrix Q can be written as $Q = U^*DU$ for some unitary matrix U and diagonal matrix $D = \text{diag}(\lambda_1, \dots, \lambda_n)$, where $\lambda_i > 0$ are the eigenvalues of Q . Since $I\sharp_{p,\nu}D = \text{diag}(1\sharp_{p,\nu}\lambda_1, \dots, 1\sharp_{p,\nu}\lambda_n)$, applying (2.1) for $x = \lambda_i, i = 1, \dots, n$, we have

$$\frac{\nu}{\mu}(I\nabla_\mu D - I\sharp_{p,\mu}D) \leq I\nabla_\nu D - I\sharp_{p,\nu}D \leq \frac{1 - \nu}{1 - \mu}(I\nabla_\mu D - I\sharp_{p,\mu}D).$$

Now, by multiplying the inequalities by U from the left and by U^* from the right, the result follows. \square

Theorem 3.2. *Let $A, B \in M_n(\mathbb{C})$ be positive definite, and let ν, μ , and p be real numbers with $-1 \leq p < 1$ and $0 < \nu \leq \mu < 1$. Then*

$$\frac{\nu}{\mu}(A\nabla_\mu B - A\sharp_{p,\mu}B) \leq A\nabla_\nu B - A\sharp_{p,\nu}B \leq \frac{1 - \nu}{1 - \mu}(A\nabla_\mu B - A\sharp_{p,\mu}B). \tag{3.2}$$

Proof. Put $Q = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ in (3.1) and multiply the inequalities by $A^{\frac{1}{2}}$ from both the left and right to get the result. \square

A similar argument as in Corollary 2.4 leads to the following result for the Heinz mean.

Corollary 3.3. *Let $A, B \in M_n(\mathbb{C})$ be positive definite, and let ν and μ be real numbers with $0 < \nu \leq \mu < 1$. Then*

$$\frac{\nu}{\mu}(A\nabla B - H_\mu(A, B)) \leq A\nabla B - H_\nu(A, B) \leq \frac{1 - \nu}{1 - \mu}(A\nabla B - H_\mu(A, B)). \tag{3.3}$$

Theorem 3.4. Let $A, B \in M_n(\mathbb{C})$ be positive definite matrices such that $0 \leq mI \leq A \leq B \leq MI$ and $-1 \leq p \leq 1$. Then, for $0 < \nu < 1$,

(i) if $0 \neq p \leq \frac{1}{2}$, then

$$A\nabla_\nu B - A\sharp_{p,\nu} B \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(1 - \left(\frac{m}{M}\right)^p\right)^2 B;$$

(ii) if $\frac{1}{2} \leq p \leq 1$, then

$$A\nabla_\nu B - A\sharp_{p,\nu} B \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(\left(\frac{M}{m}\right)^p - 1\right)^2 A;$$

(iii) in addition,

$$A\nabla_\nu B - A\sharp_\nu B \leq \frac{\nu(1-\nu)}{2} \ln^2\left(\frac{M}{m}\right) B.$$

Proof. (i) Let $0 \neq p \leq \frac{1}{2}$. Using (2.2), for $1 \leq t = \frac{b}{a} \leq \frac{M}{m}$, we have

$$\begin{aligned} 1\nabla_\nu t - 1\sharp_{p,\nu} t &\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) t(1-t^{-p})^2 \\ &\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) t \max_{1 \leq t \leq \frac{M}{m}} (1-t^{-p})^2 \\ &= \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(1 - \left(\frac{m}{M}\right)^p\right)^2 t. \end{aligned}$$

Thus, for the positive definite matrix $A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ with $I \leq A^{-\frac{1}{2}}BA^{-\frac{1}{2}} \leq \frac{M}{m}I$, it can be deduced that

$$\begin{aligned} I\nabla_\nu A^{-\frac{1}{2}}BA^{-\frac{1}{2}} - I\sharp_{p,\nu} A^{-\frac{1}{2}}BA^{-\frac{1}{2}} \\ \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(1 - \left(\frac{m}{M}\right)^p\right)^2 A^{-\frac{1}{2}}BA^{-\frac{1}{2}}. \end{aligned}$$

Hence,

$$A\nabla_\nu B - A\sharp_{p,\nu} B \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(1 - \left(\frac{m}{M}\right)^p\right)^2 B.$$

(ii) Similarly, let $t = \frac{b}{a}$. Then, by inequality (2.4), we get

$$\begin{aligned} 1\nabla_\nu t - 1\sharp_{p,\nu} t &\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) (t^p - 1)^2 \\ &\leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) t \max_{1 \leq t \leq \frac{M}{m}} (t^p - 1)^2 \\ &= \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(\left(\frac{M}{m}\right)^p - 1\right)^2. \end{aligned}$$

Thus, for the positive definite matrix $A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$, it can be deduced that

$$I\nabla_\nu A^{-\frac{1}{2}}BA^{-\frac{1}{2}} - I\sharp_{p,\nu} A^{-\frac{1}{2}}BA^{-\frac{1}{2}} \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(\left(\frac{M}{m}\right)^p - 1\right)^2.$$

Hence,

$$A\nabla_\nu B - A\sharp_{p,\nu} B \leq \frac{\nu(1-\nu)}{2} \times \frac{1}{p} \left(\frac{1}{p} - 1\right) \left(\left(\frac{M}{m}\right)^p - 1\right)^2 A.$$

(iii) Using inequality (2.6) and following similar arguments as above, the result follows. \square

Corollary 3.5. *Let $A, B \in M_n(\mathbb{C})$ be positive definite matrices such that $0 \leq mI \leq A \leq B \leq MI$ and $0 < \nu < 1$. Then*

$$A\nabla B - H_\nu(A, B) \leq \frac{\nu(1-\nu)}{2} \ln^2\left(\frac{M}{m}\right) B.$$

Remark 3.6. Note that for positive definite matrices A, B , with $A \leq B$, we have $0 < \lambda_n(A)I \leq A \leq B \leq \lambda_1(B)I$, where $\lambda_n(A)$ and $\lambda_1(B)$ stand for the minimum of eigenvalues of A and the maximum of eigenvalues of B , respectively; that is, in the preceding theorem, $\frac{M}{m} = \frac{\lambda_1(B)}{\lambda_n(A)}$.

Remark 3.7. Note that one can obtain similar inequalities for strictly positive operators on Hilbert spaces using the following monotonicity property for operator functions: If X is a self-adjoint operator with the spectrum $sp(X)$, then

$$f(t) \geq g(t), \quad t \in sp(X) \implies f(X) \geq g(X).$$

For more details about this property, see [8].

4. DETERMINANT INEQUALITY

In this section, we state a version of inequality (3.2) for the determinant of the matrices.

Lemma 4.1 (Minkowski’s product inequality; [3, p. 560]). *Let $a = [a_i]$, $b = [b_i]$, $i = 1, 2, \dots, n$, such that a_i and b_i are positive real numbers. Then*

$$\left(\prod_{i=1}^n a_i\right)^{\frac{1}{n}} + \left(\prod_{i=1}^n b_i\right)^{\frac{1}{n}} \leq \left(\prod_{i=1}^n (a_i + b_i)\right)^{\frac{1}{n}}.$$

The following lemma can be obtained by an easy calculation.

Lemma 4.2. *Let a and b be positive real numbers. If $\alpha \geq 1$, then*

$$a^\alpha + b^\alpha \leq (a + b)^\alpha.$$

Corollary 4.3. *Let $a = [a_i], b = [b_i], i = 1, 2, \dots, n$, such that a_i and b_i are positive real numbers. Then, for $\alpha \geq 1$,*

$$\left(\prod_{i=1}^n a_i\right)^{\frac{\alpha}{n}} + \left(\prod_{i=1}^n b_i\right)^{\frac{\alpha}{n}} \leq \left(\prod_{i=1}^n (a_i + b_i)\right)^{\frac{\alpha}{n}}.$$

Theorem 4.4. *Let $A, B \in M_n(\mathbb{C})$ be positive definite. If ν, μ , and α are real numbers with $0 < \nu \leq \mu < 1$ and $\alpha \geq 1$, then, for $-1 \leq p < 1$,*

$$\left(\frac{\nu}{\mu}\right)^\alpha \det(A\nabla_\mu B - A\sharp_{p,\mu} B)^{\frac{\alpha}{n}} \leq \det(A\nabla_\nu B)^{\frac{\alpha}{n}} - \det(A\sharp_{p,\nu} B)^{\frac{\alpha}{n}}. \tag{4.1}$$

Proof. Applying the first inequality of (2.1) for the singular values $s_i(T)$ of the positive definite matrix $T = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$, we have

$$\frac{\nu}{\mu} \leq \frac{1\nabla_{\nu}s_i(T) - 1\sharp_{p,\nu}s_i(T)}{1\nabla_{\mu}s_i(T) - 1\sharp_{p,\mu}s_i(T)}$$

for all $i = 1, 2, \dots, n$ for which $s_i(T) \neq 1$. We have

$$\begin{aligned} \det(I\nabla_{\nu}T)^{\frac{\alpha}{n}} &= (\det(I\nabla_{\nu}T))^{\frac{\alpha}{n}} \\ &= \left(\prod_{i=1}^n 1\nabla_{\nu}s_i(T)\right)^{\frac{\alpha}{n}} \\ &\geq \left(\prod_{i=1}^n \left[\left(\frac{\nu}{\mu}\right)(1\nabla_{\mu}s_i(T) - 1\sharp_{p,\mu}s_i(T)) + 1\sharp_{p,\nu}s_i(T)\right]\right)^{\frac{\alpha}{n}} \\ &\geq \left(\frac{\nu}{\mu}\right)^{\alpha} \prod_{i=1}^n [1\nabla_{\mu}s_i(T) - 1\sharp_{p,\mu}s_i(T)]^{\frac{\alpha}{n}} + \prod_{i=1}^n [1\sharp_{p,\nu}s_i(T)]^{\frac{\alpha}{n}} \\ &= \left(\frac{\nu}{\mu}\right)^{\alpha} \det(I\nabla_{\mu}T - I\sharp_{p,\mu}T)^{\frac{\alpha}{n}} + \det(I\sharp_{p,\nu}T)^{\frac{\alpha}{n}}. \end{aligned}$$

The second inequality is obtained by Lemma 4.2. Multiplying $(\det A^{1/2})^{\alpha/n}$ to both sides and by the multiplicativity of the determinant, we derive (4.1). \square

Remark 4.5. If $\alpha = 1$ in the inequality (4.1), then

$$\frac{\nu}{\mu} \det(A\nabla_{\mu}B - A\sharp_{p,\mu}B)^{\frac{1}{n}} \leq \det(A\nabla_{\nu}B)^{\frac{1}{n}} - \det(A\sharp_{p,\nu}B)^{\frac{1}{n}},$$

and if $\alpha = n$ in the inequality (4.1), then

$$\det A\sharp_{p,\nu}B + \left(\frac{\nu}{\mu}\right)^n \det(A\nabla_{\mu}B - A\sharp_{p,\mu}B) \leq \det A\nabla_{\nu}B. \quad (4.2)$$

Similarly, we have the following result.

Corollary 4.6. *Let $A, B \in M_n(\mathbb{C})$ be positive definite. If ν, μ , and α are real numbers with $0 < \nu \leq \mu < 1$ and $\alpha \geq 1$, then*

$$\left(\frac{\nu}{\mu}\right)^{\alpha} \det(A\nabla B - H_{\mu}(A, B))^{\frac{\alpha}{n}} \leq \det(A\nabla B)^{\frac{\alpha}{n}} - \det(H_{\nu}(A, B))^{\frac{\alpha}{n}}.$$

In particular,

$$\frac{\nu}{\mu} \det(A\nabla B - H_{\mu}(A, B))^{\frac{1}{n}} \leq \det(A\nabla B)^{\frac{1}{n}} - \det(H_{\nu}(A, B))^{\frac{1}{n}},$$

and

$$\det H_{\nu}(A, B) + \left(\frac{\nu}{\mu}\right)^n \det(A\nabla B - H_{\mu}(A, B)) \leq \det A\nabla B.$$

Acknowledgment. The author thanks the referees for useful and insightful suggestions.

REFERENCES

1. H. Alzer, C. M. da Fonseca, and A. Kovačec, *Young-type inequalities and their matrix analogues*, Linear Multilinear Algebra. **63** (2015), no. 3, 622–635. [Zbl pre06386404](#). [MR3274000](#). [DOI 10.1080/03081087.2014.891588](#). [350](#), [352](#)
2. S. Furuichi and N. Minculete, *Alternative reverse inequalities for Young's inequality*, J. Math. Inequal. **5** (2011), no. 4, 595–600. [Zbl 1236.15046](#). [MR2908115](#). [DOI 10.7153/jmi-05-51](#). [350](#)
3. R. A. Horn and C. R. Johnson, *Matrix Analysis*, 2nd ed., Cambridge Univ. Press, Cambridge, 2003. [MR2978290](#). [355](#)
4. F. Kittaneh and Y. Manasrah, *Improved Young and Heinz inequalities for matrices*, J. Math. Anal. Appl. **361** (2010), no. 1, 262–269. [Zbl 1180.15021](#). [MR2567300](#). [DOI 10.1016/j.jmaa.2009.08.059](#). [349](#), [350](#)
5. F. Kittaneh and Y. Manasrah, *Reverse Young and Heinz inequalities for matrices*, Linear Multilinear Algebra **59** (2011), no. 9, 1031–1037. [Zbl 1225.15022](#). [MR2826070](#). [DOI 10.1080/03081087.2010.551661](#). [349](#), [350](#)
6. M. Krnić, N. Lovričević, and J. Pečarić, *Jensen's operator and applications to mean inequalities for operators in Hilbert space*, Bull. Malays. Math. Sci. Soc. (2) **35** (2012), no. 1, 1–14. [Zbl 1248.47018](#). [MR2865115](#). [350](#)
7. W. Liao and J. Wu, *Matrix inequalities for the difference between arithmetic mean and harmonic mean*, Ann. Funct. Anal. **6** (2015), no. 3, 191–202. [MR3336915](#). [DOI 10.15352/afa/06-3-16](#). [350](#)
8. J. Pečarić, T. Furuta, J. M. Hot, and Y. Seo, *Mond–Pečarić Method in Operator Inequalities*, Monogr. Inequal. **1**, Element, Zagreb, 2005. [MR3026316](#). [349](#), [355](#)
9. H. Zuo, G. Shi, and M. Fujii, *Refined Young inequality with Kantorovich constant*, J. Math. Inequal. **5** (2011), no. 4, 551–556. [Zbl 1242.47017](#). [MR2908111](#). [DOI 10.7153/jmi-05-47](#). [350](#)

DEPARTMENT OF PURE MATHEMATICS, FACULTY OF MATHEMATICS AND COMPUTER,
SHAHID BAHONAR UNIVERSITY OF KERMAN, KERMAN, IRAN.

E-mail address: khosravi_m@uk.ac.ir